
Operations with Various Base Numbers (C)

Calculate each answer. Note: 0 (zero) O (letter).

102113
− 20113

11012
− 10002

49512
+ 651712

A50812
+ 422112

112)1000012 1012
× 102

125156
− 25546

EE16)6C067C16

110003
− 20003

11112
+ 10012

334)1221004 588A12
× 9912

B93512
− 420212

3214
+ 1104

2728
× 248

1S8BH36
− SJZ636

8D9B16
+ DB7016

11112
+ 10102

4116)3C8F4316 TIP536
+ 7KWQ36
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Operations with Various Base Numbers (C) Answers

Calculate each answer. Note: 0 (zero) O (letter).

102113
− 20113

12003

11012
− 10002

1012

49512
+ 651712

69B012

A50812
+ 422112
1272912

112)1000012

10112
1012

× 102
10102

125156
− 25546

55216

EE16)6C067C16

743216

110003
− 20003

20003

11112
+ 10012
110002

334)1221004

13004
588A12
× 9912

47A21612

B93512
− 420212

773312

3214
+ 1104
10314

2728
× 248
72108

1S8BH36
− SJZ636

ZOCB36

8D9B16
+ DB7016
1690B16

11112
+ 10102
110012

4116)3C8F4316

EE8316
TIP536

+ 7KWQ36
113LV36
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